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[ AlERHEONE | BmEas 14081005 [ ERiEa | EE-17 G %ETL'FH BT IR ] & 20 M 2]
] SERMO TinICHEET S ZER A
ﬁi’; TREOBBOEILNDOKRES TERFOHBEEILHNOKRES TREOBEOEILADKRES TREOHBESEILADKES
R o | BT e | B2 | e | e | B2 | BT e | B2 | TR | & | e
1 100kN/m##8 %% 1.00{0.00 ~ 1.69 125.85|3m%*x #8235 -~ - - —| 100kN/mM%#BZ % 1.00{ 12.24 ~ 24.06 125.85|3m%xB 25 -~ - - -
s 1.00]1.69 ~ 947 100.00f Zhklst |0.00 ~ 9.47| 242 12.22 s 1.00f 500 ~ 1224 100.00| Zhlst | 5.00 ~ 24.06| 2.42 12.22
9 100kN/m##8% % 1.00{0.00 ~ 1.85 128.44| 3m%x#B2 5 -~ - - —| 100kN/mM%#BZ % 1.00{ 11.51 ~ 21.94 128.44| 3m%x#B2 5 -~ - - -
s 1.00]1.85 ~ 9.63 100.00f Zh st | 0.00 ~ 9.63| 2.47 12.51 st 1.00f 500 ~ 11,51 100.00| Zhlst | 5.00 ~ 21.94| 247 12.51
3 100kN/m##8 %% 1.00]0.00 ~ 141 121.39|3m%x#B2 5% -~ - - —| 100kN/mM%Z#BZ % 1.00{ 12.23 ~ 20.58 121.39| 3m%x#B 25 -~ - - -
s 1.00]1.41 ~ 919 100.00f Zhkist |0.00 ~ 9.19] 242 12.22 st 1.00f 500 ~ 12.23 100.00f Z=hl4t+ | 5.00 ~ 20.58| 2.42 12.22
4 100kN/m##8 %% 1.00{0.00 ~ 0.95 114.21|3m%x#B25 -~ - - —| 100kN/mM%Z#BZ % 1.00{ 11.86 ~ 16.09 114.21|3m%x#B 25 -~ - - -
s 1.00/095 ~ 8.73 100.00f Zhkl4t |0.00 ~ 8.73] 2.14 10.83 s 1.00f 500 ~ 11.86 100.00f Z=hl4t | 5.00 ~ 16.09] 2.14 10.83
5 100kN/m##8% % 1.00]0.00 ~ 271 142.69| 3m%x#B2 5 -~ - - —| 100kN/mM%Z#BZ % 1.00{ 10.53 ~ 23.20 142.69| 3m%x{B2 5 -~ - - -
s 1.00]2.71 ~ 10.49 100.00f Zhlst | 0.00 ~ 10.49] 2.71 13.69 st 1.00f 5.00 ~ 10.53 100.00f Z=hklst+ | 5.00 ~ 23.20 2.71 13.69
6 100kN/m##8% % 1.00{0.00 ~ 154 123.54| 3m%x#B2 5 -~ - - —| 100kN/mM%Z#BZ % 1.00{ 11.35 ~ 16.70 123.54| 3m%x#B2 5 -~ - - -
s 1.00]1.54 ~ 933 100.00f Zhkl4t | 0.00 ~ 9.33] 2.61 13.18 s 1.00f 500 ~ 11.35 100.00f Z=hkl4t+ | 5.00 ~ 16.70| 2.61 13.18
7 100kN/mM##BZ % -l -~ - -|3mEBZ 5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00/0.00 ~ 6.76 85.38| #n L4t |0.00 ~ 6.76] 2.62 13.22 s 1.00f 5.00 ~ 10.70 85.38| #n L4t | 5.00 ~ 10.70| 2.62 13.22
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ st ~
100kN/mM##BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ st ~
100kN/mM%#BZ 5% ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ LSt ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ ZFhLst ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ ZFhLst ~ ZFhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhLst ~ ZFhLst ~ ZFhLst ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ st ~ ZFhLst ~ ZFhLst ~
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